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Question Bank

B.Com Part- 1 (General)
Subject: Business Organisation
University Department of Commerce
And Management
B.R.A.B.U, Muzaffarpur

Multiple choice Question - ( Tgfd®dT =)

Future of E- business in India is- (¢Ra & 3— o= &1 9fasg & —)

a) Bright CESER)! b) In Dark (erEPR #)

c) Normal (=) d) None of these (57 & ®Ig 12
Emergence of E- Commerce was in —  (§— &M &T UIgTd gaT —)

a) 1960 (1960) b) 1970 (1970)

C) 1980 (1980) d) 1990 (1990)

E- Commerce means — (- &M ¥ WU § —)

a) Engineering Commerce EsiafRaT sias) b) Economics Commerce (E@MIffaa iFw)
c) Electronic Commerce (seiagit=ie Hiad) d) None of these (&% & @15 =&1)
In E-business is used — (§—fasr=1 # SudRT Br 2)

a) Computer (@) b) Internet (3Uee)

c) Both aandb (31 iR ¥ TI) d) None of these (& & @15 2

Main hindrance in E- Commerce/ Business is — (§—®d / fds=/=1 # uga aren 2)

a) of payment b) Incomplete Telephone lines
(T @) (ST FTE=a BT IAYuicT)
c) Both (gH) d) None of these (57 & ®IE =2))

E-Commerce / business has made the scape of business- E—afw=i /s =1 gawma &1 &3 &= far )
a) Local (Rerira) b) National RIER)

c) International  (eFRIsER) d) Regional CIERED)

According to syllabus types of outsourcing services are — (43I & AR a2 HARN & UHR & —)
a) 2 @) b) 3 (cfr)

c) 4 (@) d) 5 (dfa)

Types of out sourcing of Services — (¥Rl & TEHT & UHR —)

a) Financial Service b) Advertisement Service

(focfrr ) (EEIEERSEIY)
c) Both (@) d) None of these (& & @15 2
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What is necessary for E-business- E—fdsa & forq smawas z-)

a) Computer (FreR)
c) Copy (1)
E-business includes —
a) E-Commerce (E-o)
c) Development ()

The payment mechanism to E-business is based on —

(Fgaht R 1)
@fsc vd Sfic FrE)

a) Cash on delivery
c) Credit and Debit Card
E- Commerce does not include — E—od & Sfaid.........

a) A business interactions with its suppliers
(U FIAT™ BT Yfciepd| A wde)

c) Interaction among the various departments

within the business
(U =awra BT A= f|rT & Hea wee)

Factoring facility is ......... type of outsourcing services.

a) Advertising Services
(fastmoe el )

c) Courier Services
(PIRER Fart)

b) Pen

(E—RR & Gl ... B Rl R S 2-)

b) Production (ITE)

d) All of these @ )

oo # YaE /=G BIdT 8—)
b) Cheque (=)
d) All of these @ )

B affera &1 fhar Siar-)

b) A business interaction with its customer
(U FIAT™ BT AU YTEDT A Hae)

d) None of these (¥ & @IS 2

(bR G ... TRE B 918 ¥l 2 )

b) Financial services
(forfrar <ard)

d) Production Services
CRICEESEIY

An electronic system of dealing in all the commercial activities which are gone through the medium of

internet.
a) E- Commerce E-o)
c) Internet (Fe=e)

The future of E-Business in India is —
a) Bright CESER))
c) Fail (@A)

In a developing country like India social responsibility is
&)
a) Necessary (aTTarzzran)

c) Wastage of Time (@3 @t gafd))

(U® VAT Sefagiie UGl 8 e sasta a1 arftriodas fhamsil &1 gexrie @ Ar| 6 1T b 9 7 )

(IRT ¥ - &1 wfasy 3-)

b) E- Business EF— faor=)

d) Letter (T=)

b) Dark (37ErPR)

d) None of these (& ¥ @Ig &)

— (IRT SN feraeie <o # Amifoie SaReTE

b) Unnecessary  (3rmaeda)

d) None of these (5T & @15 )

The state of Social responsibility in India is —
a) Primary (FfR7n)

c) Developed (frenfra)

(IRT ¥ ARG STRGIAE B 37axell 8—)

b) Semi-Developed (erei— )

d) None of these (5T & @Ig 2)
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Social responsibility process is —

a) One-way Traffic
(gpE—ufpan)

C) Three-way Traffic
(ferei—ufsban)

Social responsibility of entrepreneur is —

a) Towards consumers
(ST B Ufer)

C) Towards Employees
(@Al & ufa)

(amSTes <R ufshan )

b) Two-way Traffic
(rei—fepam)

d) None of these
(& & B1g TE)

(ST BT ARG STRETRIE 8-)

b) Toward Government
RHR © vf)

d) Towards all
GEIcRR))

Spirit of social responsibility does — (A ITREIRIE &1 HEAT BT &)

a) Increase cost of the institution
(T%erm BT AT H gfe)

C) Increase in inefficiency
(sragerercr # gfe)

The spirit of social responsibility increase —

a) In sales
(fasva #)

c) In the prestige of the institution
(Fer @1 ufasT )

The spirit of Social responsibility exploits —

b) Unnecessary increase in authority
(TR | # sFTEawd i)

d) None of these
(& &1 1S TEN)

(AT ITRGIIAE BT AT BT 8—)

b) In the scope of the Market
@R & &= #)

d) All of these
@ =)

(IS STRQTRI @1 {1 YT Sl 2—)

a) Consumers (STHTTATIN BT b) Investors (Faferaraait @)
c) Suppliers CIRETIED! d) None of these (5 ¥ fa¥lt &1 =1E)
Social responsibility of business is — (FTER BT WIS IR ©)
a) Towards Investors b) Towards Business
(fafrarerrani < wifcr) (T & Tf)
c) Towards Community d) Towards all
(FeTa & Hf) GRIEIR)

That an enterprise must behave as a good citizen is an example of its responsibility towards —

(® Sem

DI U 3 ANRSG B I FIER HAT A1y, T8 fhas 9 STRAIRIE &7 ISTER )

a) Owners () b) Workers (@HaT)

c) Consumers (SUHTrT) d) Community  (|Hr)

Ethics is important for :- (frepar we@yel &)

a) Top management b) Middle-level management
(Soa Wk y&y & forg) (A = ude @ forg)

c) Non-managerial employees d) All of them

(R e FRET B o)

@0 & for)
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Business ethicsisa :- (maa¥ie faems U@ ... g-)
a) Necessity CIEESEI)) b) Unnecessity  (srrarandn)
c) Bothaandb (a1 iR 9 qM) d) None of these (5T &1 @Ig 12)

Evasion of taxes isa — (@=f &1 =Y 8-)

a) Business ethics b) Social responsibility

(@Taty Aifcremer) (IS STRETRI)
c) Bothaandb (31 3k g <) d) None of these (57 & @Ig &)
Environment protection means make free the environment from —  (aTTaRvT FReTT ST AU ATATEROT BT ..

........ J T G 2-)

a) To provide unadulterated goods b) Air Pollution

(Fretrge RfEd avq Sule R (arg ugyon)
c) Loss (1) d) None of these (57 & ®Ig =2
.......... is not the social responsibility of business to wards consumers. (........ FTAT BT SYFIEFISH & UfT

IS SR T8l 2 1)

a) To give them a share of Profit b) To avoid adulteration
(@ ¥ =T US &ve) (@wgelt # fietrae 1 &=)

C) To bring out the reality in advertisement d) In the prestige of the institution
(fasmoe i arafdwmdar BT uhe wRA) (e B gfasT H)

......... is not the social responsibility of business towards investors. (... TTHR &1 el & ufT

ATHITTG SR &1 2 )

a) To ensure Safety of capital b) To ensure proper dividend
(IS 1 gReT uaT BRI (Sfera T giiera =)

C) To give appropriate Salary d) To give them a share of Profit
(ST uRstfoes <o) (em 3 fewr <)

Ethics are related with ......... (e &7 e ........ Sl

a) Medical GISEag)) b) Law (&)

c) Business \EERES) d) All of the above (StRraa a+)

Business....... means ideals to be adopted in the field of business. (FaR® ... o7 AU & &
STTT ST dTel 37Tast < )

a) Ethics \BIEGS)) b) Studies (eremr)

C) Protection (eron) d) Innovation (@IfTPR)

Private company can commence business — (T ol SR FaaR URY AR A © )

a) At any Time b) After obtaining the certificate of
(fsr i 7199) Incorporation

(TAMET & JHV-UF U &) & J9aTd)

C) After obtaining the certificate of Commence-
ment of Business d) None of these
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(ATIR YRS B BT FHO—UF U & B d1<) (T | PIg )

The liability of members can be known —  (sferenRal @ <1 SIF 7 Fad 8-)

a) From Articles b) From Memorandum of Association
(ereifeferr & ) (arfe e )
c) From Prospectus (faaRoT ) d) None of these (& & @15 w21)

A company is said to have been registered when — (& ¥ ST USIRF Td AT AMT ST € S19)

a) It gets certificate of incorporation from b) It gets certificate of commencement of
registrar of companies. Business from registrar fo Co.
(@& Hufal & RRER A TR BT YA0—95 (@& ®Huf Tl & IPRER I AR IR B
T R ol 2 1) BT GHOT—TF YTl B ol 2 1)

C) It actually starts his business d) None of these
(@8 I~ H FII URY R <l B) (T & P13 2)

A Joint stock Public Company cannot be formed :- (v& \ga sl arell |rasi~e H#T &1 AT 81 81
AHT B)

a) Without Prospectus (fa=r wfaeror @) b) Without Articles (fa=r smafaw @)
c) Without Memorandum (=1 i+ &) d) None of these (57 & ®Ig 2))

Which of the following documents contain rules and regulations for internal management of the
company? (Fr=Tifed # & 59 UeRkg # SU-l & M<IR® yay & forg M aftia 87?)

a) Memorandum of Association b) Articles of Association
(T AHTfEE) (UTeE 3r<If-iaH)
c) Prospectus (wrfaaxon) d) None of these (E7H & ®IE =2))

The Articles of Association establishes relationship between — (Ui sraf-rm fhas d/= Heyg wnfid wxar
g1)

a) Company and its members b) Company and outsiders
(@ T IS RN & i) (@ T 9TE AT B i)
C) Company and its members and with in Membersd) None of these
(@ T D Tl Ud IRER Ael & d1d) ST & P13 2)

Promoter is a person Who — (ada a8 =faa g <)

a) Participates in the incorporation of a company b) Is a director
(@F & THREE § 9N oI ) CCSEIRED)

C) Relative of managing director d) None of these
(v aTerd B RIAER ?) (T & P13 2)

From the following companies which companies can follow table- F intead of Article of Association.
(Frifra wrafral § | S Hrfrdt o srafad @ I R diferdT % &1 31T Jad 7)

a) Public Ltd Co b) Pvt. Ltd.Co.
(Fataify Afaa wwafr) (st <Ay wrafra)
c) Co. Ltd. By Guarantee d) None of these

(TROS gRT AT H7a) (T & B T2)
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Table F of the Indian Companies Act article 1 presents specimen of — (W< w#a=l srfafad o1 =g (1)
BI AT ‘& THAT TR BT 5—)

a) Act (fam—u=) b) Articles of a Co. (¥Rerm & srafiam @)
c) Share prospectus (IRR gfdaxer @) d) None of these (5T & @Ig 12)

Equity shareholders ordinarily have — (awar sierenfRal &1 ArmRoeqar—)

a) No voting Right b) Limited voting Right

(@ a1 BT JIRPHR 2 BIah) @re <1 &1 A FfeER B 7)
C) Full voting Right d) None of these

(@ < &1 gl AfeR BT B) (7 9 g T2

Business :- (ggarg —)
a) Industry + Commerce (S=IRT + d1forsy) b) Industry + Trade (ST + &TUR)
c) Trade + Commerce (@mR + d1fors) d) None of these (T & @iz =)

Minimum number of member to from a private company is — (@& i FFT @1 @MU & oy Fel B
]ATH & ©)

a) 2 @) b) 3 ()
c) 4 (@) d) 5 (df=r)

Minimum number of member to form a public company is — (v& AESE HF B WIeET & forw dewi
P RATH T )

a) 5 (dtar) b) 7 (@)
c) 10 (@) d) 15 (T=z)
Application for approval of name of a company is to be made to ...... (@ & A DI WIpT BT R U
............ ST ST 2 )
a) SEBI GED! b) Registrar of company (&1 & IRRER)
C) Govt. of India “RT TRPR) d) None of these (&7 & @15 =&l)
A prospectus is issued by ........ EfaaRer fas gRT SR faar ST )
a) A private Co. (& it &) b) A Public Co. ([ ® ardsifae &)
c) A Public Co. Seeking investment from public. d) None of these
(U SIS HFE S ST o AT urd axer T ¥ piE )
e B 1)
A proposed name of company is considered under sirable if ........ (@I & yRaTfad w9 B Sfad T8 A
Srar afe )
a) It is identical with the name of an existing b) It is too big
(@8 gd zenfid &l S & A 2) (o T &)
c) It istoo small (s B d) General (&™)

In the absence of article of association — (darie ¥ =9 & T # o] 8l &)

a) Table — A CEEERY) b) Table-C (ETeT—)
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c) Table - E (Ca—3) d)

Table —F (CIeT—Th)

Main document to be filed with the Registrar are — RRRER @& 99 Ud fFa1 S 16 & U0 7)

a) Memorandum of Association b)
(ardE AT )

c) List of Officers (arfaiRar @1 =) d)

Whole salers sell goods — (ol IR ATl Il ®)

a) Directly to consumers b)
GICASECIERISIRC))

C) To consumer through Post d)
(SUHTEITST BT STH B FIRT)

List of Mangers
(et 1 )
All of these (& wfi)

To Retailers
(BedR ATITRAT BI)

None of these
T | BIS L)

Financial assistance to producers is provided by : (Ste®i @1 faxiia FeIdT USTH &Rl 2)

a) Whole saler (e =mam) b)

c) Customer (uTEh) d)

A wholesaler deals — (2% =R YR HAT &)

a) Variety Goods (fafder awgail ) b)
C) Industrial Goods (afenfires awgair ) d)
Capital is needed for wholesale trade —

a) In small Amount (I AT #) b)

C) In large Amount (a1 == #) d)

Retailer (geax =mr)

None of these (& & @I§ 2)
Specific Goods (faf¥re gwgail )
(& 3 @I 77

None of these

@rH IR @& forg YSh &1 smaegddr &—)

In Nominal Amount FrHE |E=T #)

(& 31 )

None of these

Price fluctuation are controlled by — (& & IaR—de@ &I fraf=d &=ar 8)

a) Whole saler (o1& =) b)

c) Manufacturer (i) d)
Storing of goods is done by —  (a¥qif & HUEYT & HM HAT B-)
a) Retailer CEETEIEINY) b)
C) Whole saler  (2fr& =amam) d)

More credit sale are done by — (31f&& @1 # YR <9 arel 3-)
a) Whole saler  (2fra =mam) b)
c) Producer (SaTe®) d)
less profit per unit is earned by —
a) Whole saler  (fr& =amam) b)
C) Retailer CETEIEINY) d)

Elimination of whole saler is — (&% @Mt T ger™T AT 8—)

Retailer (BTHR ATINT)

)

None of these

(&4 1 B1g TE)

Producer

None of these

Retailer

None of these

@Y SHIE HH 9 HACT &)

Producer

(& 31 )

None of these




a) Necessary (eTmaTT®) b) Desirable (@rs+a)
c) Not Desirable (@rais=a) d) None of these (& & ®Ig )

260.  The services of wholesalers are not meant — (2% <URY & HaTg & Bl 8—)

a) For Retailer  (Geax amaiial & fom) b) For Producers (Swres! & for)

c) For Consumers (Su+radmii @ forg) d) None of these (5T & @Ig 12)
261.  Inwhich of the following countries departmental stores originated — (F=foiRad <= § | fvas fawria

USRI BT ST g3fl—)

a) France Ears)] b) England (FTeiTe)

C) America (erafRa) d) None of these (& & ®1g =&l)

262.  Departmental stores are not popular in — (fwrfia wweR waifts st g—)
a) India (Ra) b) America (erRa)
c) England (S7iUs) d) None of these (¥ & @IS 2
263.  On multiple shops is found —  (sg&=® gHMl W IR S 8-)
a) Uniformity in Prices (@@l # yawyan b) Differences in Prices (@i # fafiear)
c) Higher Price (@@l # atferean) d) None of these (¥ & @IS 2
264.  The quality of goods on multiple shops is — (sgH=® THMI W a3l @ fbeA Bl 3-)
a) Inferior (afeam) b) Superior (afeam)

C) Normal (THT=) d) None of these (&7 & @15 =&l)

265.  On multiple shops goods are sold on — (gg%=a® gl W TGV 41 Al 5—)
a) Only cash (@ 7<) b) Only credit (@I UR)
C) Cash and Credit both (F@e 3k SuR <) d) None of these (&7 & @15 =&l)

266.  In which group of cities departmental stores in India are established - (TRa # R WoeRT @1 AMUAT wTERi
@ fod o 5 & i )

a) Jaipur, Chandigarh, Luknow b) Ranchi, Patna and Bhagalpur
(SAQR, TSNS, &) R, e, ITAYR)

C) Mumbai, Kolkata, Chennai d) None of these
(IS, PIABIT, T~T3) (@ q IS )

267.  Departmental store is most suitable for — (¥ mfra wwerR Fa¥1 @1 ST )
a) Rich class e it & forg) b) Poor class (M9 ot & for)
c) Middle class  (Femm @it & form) d) None of these (57 & ®IE =2)

268.  Which of the following is the manufacturers retail establishment — (Fr=ifepa 3 fmfaRil &1 Hewr e
DIF—aT B-)

a) Departmental Store (ESIIEESIN) b) Multiple Shop (sgv=g® )
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c) Super Bazar (W 9WIR) d) None of these (s & ®I1g =TEl)

A retailer sells good to — (@ @mURT AT J=rar 2-)

a) Consumers (SuTaTsil ) b) Producers (STTEDI BT)

C) Whole salers (el amaiRat &) d) None of these (&7 & @15 &)

In the business field the maximum number in India is of — (¥ & &3 & wRd | AAlf¥® G 8—)

a) Manufacturers (Fmiameil @) b) Retailers (FedR @TaTRAT B)

C) Wholesalers (@it amariRa @) d) None of these (57 & ®IE =12)

Super Bazar are example of — (W IR IerEw0r 2-)

a) Departmental stores (v woeRT @) b) Mail order Business (S1% gRT @UR &)
c) Multiple shops (qgH=d M D) d) None of these (¥ & @IS 2
Internal trade means- (EMT<IR® TR &7 AMIR .......... I 2-)

a) Trade within the boundry of country b) Trade between countries

(U <2 1 AR & 3eR fhar S arel AMR) @ <@l & 7 {1 9 a1 mR)
C) Trade at global level d) All of these

(favg TR ) ANR) ETH I )

Producer — wholesaler — Retailer - Consumer are example of — (SdTe® — i IR — HEPHR AR —
ST SETERT 2—)

a) Retail trade (R AMNUR) b) Whole sale trade ~ (@1% =mR)
C) Direct trade (T UR) d) Indirect trade (e MUR)
Retail trade is the example of type of internal trade on the basis of — (fe®R &MUR ... % MR W

AIRF AR & YHR HT IaERT 2 |)

a) Relationship  (\w=) b) Quantity (#T=)

C) Levels (TRY) d) All of these @ )

The whole saler buys goodina ......... quantity. (&% MRy ... AT # A @Edr 8-)

a) less (@A) b) More (arferp)

c) Medium () d) None of these (57 & ®IE =2))

The facility of home delivery of goods is generally provided by ....... (W @ TR WR gy @ Fir ur:
.................... % gRT & 9K B)

a) Whole saler  (2fra =mam) b) Retailer (R TUR))

C) Producer (ITE®) d) All of these @ )

Usually purchases on cash and sells on credit- (@m: %3 F@g iR a4y IUR =T 5—)
a) Whole saler (o1& o) b) Retailer (BTHR ATIRY)

c) Producer SRIEED) d) All of these @ =)




278. ... deals in a large numbers of goods. (....... 3P YBR & I3l BT ATIR HAT 5—)
a) Retailer (wear ) b) Broker (gerrer)
c) Agent (Tore) d) All of these @ )

279.  The last step of the cain of business middle men. (areaies Aegwell @I sRgem &1 ity HL 2)

a) Retailer CEETEIEINY) b) Consumer CIEED)]
c) Agent (goie) d) Broker (eTet)
280.  Automatic vending machine is generally used to sell........... (Ferafera fas! /el &1 YAWT U1 ... Eal
faey & fore fopar Sirar 7))
a) Cigarette (Rrme) b) Wine (3Rm)
C) Car (PR) d) Toffee (Em)
281.  Chamber of Commerce and Industries safeguard the interest of — (@R 3ifs BRI Td STSE ... ®
fRdl @1 [RiEa @ 7 )
a) Business b) Business and Business man
CESID) (caara T e
c) Retailer (B ) d) Whole saler  (eft& =mar)

282.  How many copies of a bill of lading are prepared ? (sreroh feet @t farae uferdf TaR @ SRl 7 1)
a) 4 (=) b) 2 G
c) 1 () d) 3 ()

283.  The trade between India and Nepal is called — (R @1 uTet & A B9 ATl AR T HEAT 8—)

a) Home trade (@2 IUR) b) Foreign trade  (fac=h =muR)
c) Local trade (T 2TAR) d) None of these (57 & ®IE =2))
284.  Which of the following is the document of the title of goods — (F=ifeiRad # & A1 & W@ &1 Y@ HIF—AT
&)
a) Mates Receipt (@ BT ) b) Charter Party  (amex urdi)
C) Bill of lading (STETST ) d) None of these (&7 & @15 =21)

285.  Mates receipt is issued by — (@<= @ Wi fFRifAd @Rar 2-)
a) Captain of ship (S8rsT &1 ®) b) Importer (aTraTcranai)
c) Exporter (GRIGEZ)) d) None of these (57 & ®IE =2))

286.  Indent is that document which is— (gvsve 98 o & )

a) Given by Importer to Exporter Agent b) Given by Importer to Direct Producer
(@maTdddt gRT fAafaedr Yoie @I far S @) (CraTaEdl gRT WY ScTed BT faar S 8)
C) Given by Exporter to Importer d) None of these
(Fraftaeal gRT maTdaddr & f3ar ST 2) T | PiE )

287. Businessis — (cgawarg g-)
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a) Profession (Srem) b) Management (Fger)

c) Both (@) d) None of these (&7 & @Ig )
Management is an art of doing work- (e v& U1 fobarm & foremi—)

a) By itself d @& gI) b) By others R & gr)

c) By itself & others both (&% iR g&=i & gr1)  d) None of these (5T & @Ig 12)
Indent is — (gvSve T B-)

a) Written (ferfRera) b) Verbal (#iRaap)

C) Written and Verbal both (feiReq @ wiRes <) d) None of these (& & @1 =&l)
Export process starts from — (Frafa ufssar ey 2xch 2)

a) By Bill of lading CENIRECSI)) b) By Indent (svSTE W)

C) By charter party (@R Uret ¥) d) None of these (& & ®I§ 2

Foreign trade is needed because — (<= MR &1 maegdar e 8, Riifd—)

a) Every country is not self sufficient b) Every country is self sufficient
[H < AMMAMTHR T8l B) TS T ATHTHR)
C) Both  (g+) d) None of these (57 & &g =12)

Indent is used —  (gvSve & SYAFT BT B-)
a) In Inland Trade (<= @mUR #) b) In Foreign Trade (foe=ft R #)
c) Both (&) d) None of these (57 & ®Ig =12))

When import exceeds the export than balance of trade will be — (Sa s, fFafad @1 e # ifde g ar
IR el —)

a) Favourable (argame Brm) b) In favourable (et rm)
C) Normal (A= ) d) None of these (&7 & @15 =&l)

By Indent in foreign trade we means — (fa<=ft =R # am<sr 93 ¥ A 3-)

a) An order sent directly to the producer b) An order placed through the export ~ °
X agents
(fFrafar @1 W T e ¥) (Frata golc & @™ | 9ol T 3ee 9)
c) An order issued by shipping Co. to the d) None of these (57 & @Ig 120

captain of the ship
(STeTSl & P Pl STeToll HF gRT & T free )

The investment limited of SSI does not exceed — (Fgw¥a ST # vHgwang # fafranT dmr-)

a) Rs. 1 Cr. (& 1 BRA) b) Rs. 2 Cr. (& 2 TRI)
c) Rs. 8 Cr. (% 8 PIS) d) Rs. 4 Cr. (% 4 PS)
Small business are helpful to generate — (8¢ @@ ... a1 I H wEEd )

a) More employment (@@ IoRTR) b) Economic strength (e woreeh)
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C) Both (&) d) Corruption (I<HER)

Which of the following is helpful in balanced regional development — (Fgferd &= fdewm # f=1 # & &9
WER® B-)

a) large scale business (Erd—=_ ) b) small business (a9 =ewm)

c) companies (@) d) None of these (¥ & @IS 2))

Which of the following provides opportunity for artisan — (FRFRI & 3f@eR 71 % ¥ B U&TH BT 2—)

a) Companies (@) b) Large Scale business (&€ w¥g =@dm)
c) Small Business (ag =@am) d) None of these (¥ & @IS 2))

Which of the following is not a problem of S.S.1 — (/=1 3 & S0 oY IS B TR T8l 2—)

a) Indequate Finance b) Lack of trained person
Suaa fa<) (@RI HHenRAT BT 374Ta)
c) Old Technology (QRT=IT Hrenfira) d) Local Demand (Rerr=irg #fT)

Business is —  (syawmy 8-)
a) Art (@) b) Science (fa=im)
C) Both (g+) d) None of these (T & ®1E &)




